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Neither have permission to store produce; only one has

OVERVIEW

X1°'27 asserts that the Xn»72 of X"2wA can follow the view of 197w " (that 2xna 1P
P17 pays a w"l), and when the Xn»721 states the case of a 27X where there is no
permission 12 X9 712 XY, it means that only one partner has mwa for M0, The
X3 continues (according to our [s""wA] X07°3) that both partners have nwA
ML, Our ModIN rejects this X07°) and offers a different one.

- DMWY MY XYY 1Y XY 09 BN 1A
The text of the n''" reads (after 777 XPX M0Y 719 X9 719 XD, the X3 continues)

2oy 719 K91 719 X% — that neither partner had a right to bring oxen into the 1xn
(only the 171 had the right to store M7 there).

mooIN continues to explain the X713 according to this X07°);
= M9 PNV PN I8N RMN IV N7

For concerning 2 the p°m is 21 for it is 19277 9317 where he damaged the 9
(the P12 had no permission to have his oxen there and the P11 had the exclusive right to store his

Mo there) -
- 2935999 MWYH BnY 7N NV "2 ‘95290 mwAa 197 %Y XN DYV *a) YaN

However concerning the oxen (and any damage they caused [each other]) it is 17
in the 2''711 since neither ox had permission to enter the 7.

mooIn rejects the other (M)X07:
= DYINMYY NTHY NTHY D990 2INIY 113D 13909 XD

And our text should not read as is written in other texts; 'aynw® 91 MY, that

both partners had permission to bring their oxen into the 9¥n. This X073 (maintains
meoIN) is incorrect.

- P10 98N AUNY 1Y 150 KY JY 233 )5 ONT
For it were so (that they both had permission for their oxen to be in the 7x¥m), it
should not be considered 35177 987 (and there should be no 21 for 7"w). The reason it

should not be considered a 5°377 %77 iS -
= 2995 N9IAT9 1YW BY D290 1) 1N Y99 MY YWIY "o

"1f it would be P37 N2 1P he would be liable for a "1, since we are following the view of 11970 ™.
> The ?1°17 MW was not damaged 17377 w32, for he had no right to be in the 7%, See ‘Thinking it over’ # 2.
g g g
? »ax responded to X7°T 27 since it is not 2* MW NTATY it is considered MK 77w; implying that if it would be nIAYR
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Since each one has permission to bring in his 1", as is evidenced previously.

mMooIN anticipates and rejects an additional possible Xnn pix:
= N9 92495 NDT ©299YD XD 7M929Y N9 MY NRPIND vy¥a XD

And the X3 did not want to establish the Xn>72 in a case where both were
allowed to store n7°» and neither was allowed to bring in 2. In this situation
the 17 would also be [according to »2X] that it is a 27°277 7¥1 concerning 1" W (for it
is not 2> MWY nR) and it is a 1"77 concerning 17p. Nevertheless the X3 did not

choose this Xn1’PX, since it would be not according to 3''9; for 19 maintains since it
is a 7719 719 NdY NN NIWA it is not considered TR 77w and 1" would be T10o.

oo offers an additional reason why the X773 chose not to use the XN IR of 2™ MWD R Mok 191 1o
$991 YNIWN KD NIYIDT I

And furthermore the syntax (of 7112 891 7712 X?') does not indicate this type of 1xn
where they both have n11%% mun.*

SUMMARY

If it is not (719 XD 712 X9) 2 MWS 7M1, then it is considered ik 77w (if only the
P11 has M70% nwn); however if is MW o7°3wH 777, then it is not considered a
IR 772 (even if only the 13 has M9 mMwA).

THINKING IT OVER

1. How can we explain the difference between >"w2 no7°a that (even) if it 1s 7717
D Mwh oA’ it is (nevertheless) considered a TnR 772 and ModIN NO7% that only if
it is not 2™ MW TMM is it considered a K 7w,

2. M90IN maintains that where it is 2 MW? 77 PR it is considered 1"7172 17 since
they (both) had no permission to be there.” However by a 2"71 both oxen have
permission to be there. Why is this case not like a 217177 9% where the p 177 MW has
no permission to be there!” (Why do we view this from the perspective of the 1w
P17 [only], and not from the perspective of the P 1207 Ww?!)

1w it would not be a TnX 77w, [See p"nuw brought (also) in 83 77w 7"nK.] See 19 MR 7"10.

* When we say m779% 719 891 2w 712 891 7 K, then in each case (by oMW and by n9) it is 72 X9 712 X9; by
o literally 1% 821 712 X2 and by mvo it is 717 RPR 712 X9 12 &2, However if it is 2w m 0% 711 then by m
the term 7717 X1 7112 X7 cannot apply. [It would seem that this approach is also a rejection of the 211w 7121 712 X071,

? See m¥w MK 7"270.

® See footnote # 2.

7 See »"n1 and upn MK 3" .
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